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!" قبل ما نبلش ا6حاضرة... عشان أنا كتير منيحة ا) يرضى عني
#" قررت أخليكم تكسبو أجر كبير بكل سهولة... شفتو محسني

طب شو هو اPجر وكيف يا Mنا ا6تواضعة؟%$
اPجر يا حلوين أنه تتبرعو برصيد الطباعة تبعكم اذا ما بتحتاجوه لطVب بحاجته (قلتلكم 

&' اجر بسهولة)
طيب شو Mزم نعمل؟

أول شي Mزم تفوتو ع بوابتكم ومن عند خدمات أخرى __ رصيد الطباعة
هk من هي الخطوة بس بدي تتأكدو انو رصيدكم موجود وM خالص لو اعطاك (M يوجد 

اي حركات طباعة حاليا) معناها الرصيد موجود وفيكم تتبرعو فيه
طيب تمام وكيف نتبرع؟

من بوبابتكم ومن عند خدمات أخرى __ الدخول لشبكة اMنترنت (ا6ختبرات والVسلكية)
بتاخدوا اسم ا6ستخدم (والي هو رقمكم الجامعي) وبتنسخوا كلمة السر 

واخر شي بتدخلو على QR code الي تحت) بتعبو فورم التبرع بالرصيد وبس.
سهلة القصة وا) وفيها اجر كبير (اجر ع كل نقطة وحرف وكلمة انطبعت من رصيدك 

لشخص محتاج واجر بكل حرف اندرس من الورق الي انطبع برصيدك الي انت اصV ما 
بتستخدمه).







Succinylcholine is a neuromuscular blocker metabolized by pseudocholinestrase 
enzyme. Some individuals with deficient PsChE, when they take succinylcholine, 
severe muscle paralysis occurs due to lack of succinylcholine metabolism, and may 
lead to death from respiratory paralysis (succinylcholine apnea).



dose تعتمد على ال severity لحتى تحدث مو =زم يكون عندي جرعة كبيرة ولكن ال

(beta-lactam ring عندهم بتركيبهم) شبه بعض بالتركيب Jهدول مجموعت cephalosporin ومجموعة penicillin أشهر مثال مجموعة
لو في مريض وعنده allergy من ال penicillin وبدك تعطيه دواء غيره... ما بينفع تعطيه R cephalosporinنهم نفس التركيب فممكن يكون 

عنده allergy  من cephalosporin برضو





Quiz Time 
1)Failure of the patient to breath after surgical operation may be due to:
A. Pseudocholin estrase deficiency
B. Methemoglobin reductase deficiency 
C. G-6-PD deficiency
D. VitaminK epoxide reductase deficiency
E. Monoamine oxidase deficincy

2)Failure of some children with rickets to respond to therapeutic doses of 
vitamin D is most likely to be due to:
A. Differences in sex
B. Differences in body weight
C. Genetic variation
D. Tolerance
E. Intolerance

بتنعمل مع ا2دوية ا.شهور فيها الحساسية

Physiological antagonist of histamine



3)Which of the following best describes what the term “tachyphylaxis”means?
A. An increase in the rate of the response, for example, an increase of the rate of 
muscle contraction
B. Immediate hypersensitivity reactions (i.e., anaphylaxis)
C. Prompt conformational changes of the receptor such that agonists, but not 
antagonists, are able to bind and cause a response
D. Quick and progressive rises in the intensity of drug response, with repeated 
administration, even when the doses are unchanged
E. Rapid development of tolerance to the drug’s effects

4) A 44-year-old black male is brought to the emergency department with 6 h of 
worsening lethargy and confusion. Past medical history is significant for easy bruising, 
3 months of bone pain, and frequent pneumococcal infections. Labs were ordered, 
revealing serum cal- cium of 17 mg/dL (normal: 9.0 to 10.5 mg/dL). To rapidly lower 
his serum calcium, you administer calcitonin. However, calcitonin alone is insufficient 
be- cause it is known to rapidly and suddenly lose its effectiveness within 2 to 3 days 
of repeated dosing. For this reason, a bisphosphonate, which take 2 to 3 days to 
become effective, is added simultaneously. What is the term for the rapid decrease in 
response to calcitonin?
(A) Anaphylaxis
 (B) Prophylaxis 
(C) Tachyphylaxis
 (D) Tolerance 

5)Regarding the use of a daily baby aspirin, oral fiber supplements, and a daily “water” 
pill in an 89-year-old man with hypertension and coronary artery disease, which of the 
following statements is true regarding pharmacology in the elderly patient?
(A) Coexisting disease states are unlikely to produce additive impairment
(B) Elderly patients are less sensitive to drug effects
(C) Elderly patients are less sensitive to drug side effects
(D) Elimination of drugs becomes impaired with age
(E) Responses to compensate for drug accumulation are satisfactory



6)Which of the following drug equations exemplifies the concepts of potentiation?
(A) DrugAB > DrugA + DrugB
(B) DrugAB = DrugA = DrugB
(C) DrugAB < DrugA < DrugB
(D) DrugAB = DrugB > DrugA

7)Drug A and Drug B are of equal magnitude. If Drug A and Drug B are combined 
together, this would be an example of which of the following?
(A) Additive effects
(B) Neutralization
 (C) Potentiation 
(D) Synergism

8)Tolerance develops because of: 
a) Diminished absorption
b) Rapid excretion of a drug
c) Both of the above
d) None of the above

قم فA وقت للخيبة ، هناك  حلم جميل ينتظرك فاسعى إليه ، قم واكسر كل 
شعور سيء داخلك ،لم تخلق نفسك لتعذبها ،خلقت لتكون داعمًا لها في 

!❤ صنع ا]ستحيل ،فكن ذا أثر.



ريخ لك هيزجيو ةيفاعلا هيطعي ;ا مخفلا فيرش روتكدلا ةدام انصلخ كيهو

!

اهعم ريخ ةيادب نوكت برايو Oمساي ةروتكد عم شلبن حر دحFا ;ا ءاش ناو

"

غيرفتلاه قيقدت لمكبو ةضيرم اناو يعضو نع ةربعم يهو اهطحأ ام تردق ام شلعم

##

"✨ أسأل االله لكم التوفيق والفلاح في الدنيا والأخرة


